

Jaime Frade



Stat Apps 2: HW3

Problem 3.3

3.3.1

The added variable plot for X_2 afer X_1 will be y-axis.  Since X_1 is a linear function of X_2 which is perfectly fit, the residual of X_2 on X_1 will always be zero.

3.3.2

The added variable plot for X_2 afer X_1 will be x-axis.  Since Y is a linear function of X_1 which is perfectly fit, the residual of Y on X_1 will always be zero.

3.3.3

When X_1 is not correlated with X_2 and Y, the plots will have the same shape.

3.3.4

True.  The vertical variation in an added variable plot for X_2 after X_1 is the residuals from the regression of Y on X_1.  Therefore, the vertical variation is always less then or equal to the vertical variation in the plot of Y versus X_2.

